9. SURDS AND INDICES

IMPORTANT FACTS AND FORMULAE J

1. LAWS OF INDICES :

m

(i) & x a" = g® + 2 (i = =a™" (i£i) (a™=) = gm=
2
i fn

(iv) (abi = a7b" (v [; - & (vi) & = 1

1
2 BUIRDS : Let a be & rational number and n be g positive inleger such that AN = Era_;
is irrational. Then, Yo is called a surd of order n.
3 LAWS OF SURDS :

1
(i) ¥a = an (i) Yab = Ve xYb Gid f:'ﬁ
b W
Gv) a2 = a tv) W - =y (vi) @™ = Yam

SOLVED EXAMPLES

4
z A TR
Ex. 1. Simplify : () (27)3 (i) (2020 8 cip | 2| 2.
| 4255 |
; : 2 -3".5-_
ol (0 278 = (¥ =3 Y ogt.g
4 .. Jg, (=2
G 1024) 5 =% S gl S -oge 2 _ 1
4%~ 258
S o g =81 -
PILALM E]E} g E) [E)eon [ o e 28
125 ) 5 5 ) 5 2] " F "
=
Ex. 2. Evaluste : {) (000255 (i) (256016 » (15018,
i
3 4
. 2 5 [£F I 3 l 4 1"J 1
Sol. (@ (000032 [——-—] = [— ] =4 hed - S
100000 mﬁ,‘ [5 -55,.| 125

|-”:l ':Eﬁﬁln i - ”.E:IJ 1} = [‘ -IE-H :Fl.]ﬁ w flEl':‘ 15 r-‘ﬁ]lihﬂ +1.1] " I.I_E-]n i3
1
16" u (1628 . g0 +0IE _ qgft _ e - 4,

185
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Ez. 3. What is the quotient when (x ! - 1) js divided by (x — 1) 7
1

wli -1
T T e ey
. e x-1 % x-T) x

Hence, the required quatient is .
L i
Ex. 4. If -1+ 2+ 1 = 1380, then find the valus of x.

Bol, 2 1:2°°1 1980 w 2-1(1+2% = 1280
1 _ 1280
= el -

5

Henes, x = 9,

—

1
Ex. 5. Find the value of [5[35 + 27

1
f 1 1y3 i | [3uld
Sal. 5ia:ur.ra]J' = 5-!:335”33.'3'; -'nis* s :h.‘

L L

i 1 i [h.%'g
¥

B2 e M - (5w 50 o gl - g i g

> -
Ex. 6. Find the value af{ilﬁ]‘ +(16) & }

E -i E _:]" [Era-.l Jixi;
Sol. |62 +(16) 2| = |(4%)2 4 (4 7| gt 2/, 4l 3
PLIPES O DR S PO S
a4\ G4 A4

i I
Ex. 7. If li} = 0.008, then find the value of (0,257,

Sal. = 0008 =

1"
(_. = Sy=3 = y=L

B _ 1 _[1*’
1000 126 .5/

~ (0.28)F = (0.25) = 0.25,

n
5. glE+]
Ex. 8. Find the value af _Lﬂ-li_&'_

oo =1
a ik rEJ.r'!
g TGamE il iy gl g Bpegieel o gn g gieea
T T T Frgi-l gl ge-l

- et ettt gAn b Ea-1 _ g2 _ g
gmenel gEn=1 = s o

1 s 1 1
Ex 9 Find the value m“[:* . 1][3* . g2, gd ;f] (N.LET. 2008)

=ME=P & x-1=8 = x=9
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1

Sal. Pntﬁ:q;ﬂ:=.t,wegﬂ:

i 2 1 i 1

[2‘ —1][2" +232 + 34 11) = (x-10x? + &% + 2 + 1), where r = 24
= {x-UlE iz +U+lx+ 1

=x-Dix+Di + 1 =z -Dix* + 1)

={x'=1 = [[ﬂ%rq} = [2(%“:!-1] =2=-1=1

g ﬁ
63 =56
Ex 10. Find ths valus af "
5&"’

2 1 1 2 [n1] 1 J?‘
Eﬂx‘ﬁrﬁ_T=E*xt-E’13_ﬁ~"xﬁ[ ’]=s=u 5)

U . [E'“}% 'r""”i] ¢

2 1’_] g 1 E,,l]
=E*xﬁ["' =63x5d =6? Y ugl=g

Ex 1. ifr=y" y= :‘uu[:::“, than fnd the valve aof abe
ol =0 [ve=y
=¥ = (B oy =2
m ghinel o gabe
& mbe = 1,

Sol.

.-r- I-ll I}Iltd- '-h"j H'tq-ﬂlq-ﬂl
r'f]"‘ A [:ﬁ = :‘}
Ex. 12. Simplify : | b= =
= d 4 x‘] i [:r'
H.. Gimﬂq:l'euim. i hrl'ﬂ-ﬁ]][liq-ﬁt+ﬂﬂ,{zlﬁl—:}pﬂi-I--L'?—k:l.lrlft—ﬂl'lfﬂiiﬂ?-tll]
- pla=Biiet e b vl (bW ac’ o be)  le-ubie! v o’ +cal

P TN T T R T L T o N ]

h.ﬂ.mﬂhmﬁuﬁ!
Sol. Given surds are of order 2 and 3. Their L.C.M. is 6.
Changing each Lo a surd of order 8, we get :

zﬂ[lx!' g 1 1
J2 =0 =93 3 ot - %% = (6 = UE
1 LR 1 2

W=03=02 V9 =% =9° = J5.
Elwliy,ﬁhﬁindhmmﬁ:-ﬁ.

Ex. 14. Find the largest from among {6, V2 and ¥4.

Sal. Given gurds are of order 4, 2 and 3 respectively Their LCM. is 12
Changing cach to a surd of order 12, we get :
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1
5 = ﬁ’- -E"' 3] mﬂ] ﬁﬂhrﬂ = (11§12,

1 .‘L.E 1
J2 w32 o2 5 = H’EJ - {E‘ﬁj“‘ = (G4)12,

H
Clearly, (268112 » (21812 > (84)12.

1
< Lamgest one is (268)2 je, V4.

T B e e e e e e e e e e e e e e e e e —— e — S R S R

EXERCISE 9
Directions : Mark () againsi the correct answer ;
-}
1. The valoe of (256)% §s -
(e} 512 i) D84 (e} 11_.‘.'21- {dh 1032
1
2 The value of lhnl'FI]'EI 18 : .
[a) 2 ib) 4 {ah 2 idy &
o
4 The ulu”f[;ia f &
4 @ 16 Bl
{a) g ih) F (et m [ i T
]
4. The wvaloe of LL_L » is ;
(a) 38 ®) - 36 @ = oL
a6 36
1
5. The value of B4 = (125)"%% ig :
(a) f5 (k) 5 (o 55 id) 25
A The value of 1=i ]31- l]in: (M.B.A. 2003)
z16) ¥ (2560 4 (32 5
{a) 102 (b 105 {c) 107 id) 108
7. The value of K100'*® = (101*#5] s - {Bank PO. 2002)
(@) 10600} (B) 10000 {€) 100000 (d) 10%
B ZAx10M+ExiorDH =
(@) 3 = 109 (B} 3 = 104 (g 3 = 10% idy 30
1 4
1 Y3173
R Mk ] V¥
[:1&] b lm}
3 2 4 1
(&) r [ ) 3 (e 9 e} 8
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10, (100007 + 1088 = 7 (Rank PO. 200:8)
(a] 10 (k) 100 (c) 1000 (d} 10000

11 (258)016 » (256009 = 7 (8.8.C. 2004)
{ah 4 (b} 18 e 64 (d) 266.20

12 (0.04F 18 =72 (Bank PO. 2003)
(a) 25 {b) 126 ic) 250 (d) 826

13, Q7AS x 7' = 17 (Bank PO. 20032)
(@) 229 () 275 (&) 425 (d) 4.5

14 480 = 49 =« 49 = 49=T
(a) 4 (bl 7 e & id) 18

15. The value of (8% - & %) js
@ Txg ™ (b 7= g e B x B (d) None of these

1 ]
16. (64) 2—(-3% & =7 (Bank BO. 2002)
1 a 1 3

(a) B (5 3 (c) 18 () 16 [of Wome of these

17. (18P + (27P5 « 628 = 27 ; (Bank PO. 2003)
(=) 3.5 (B 45 () & idy T {eh Mone of these

18. (2575 x (548 4 (12505 = 57 {Bank PO, 2003)
(a) B5 (b 13 (ol 16 i 17.5 (@ Mone of these

(243013 o (049000

19. The value of 0T 0T TE x (2aaP ?

i% : {C.B.1. 2003}

a 7 3 )
(a) = (b 3 (@15 (d 25
a L | b'ﬁlf—ﬂ
20. If (F] = [: . then the value of x is : (M.B.A. 2003)
4
] R
(2} 3 (1 e 2 5
g1 1f 27! = L then the value of n is :
gn-
{m) 3 (b 2 () O (dh - 2
39 1f 5% = 3125, then the value of 5%~ % is :
(a) 26 (b) 125 (el 625 id) 1825
3
28 IT BB x5%+5 2 = "2, then the value of a is:
(a) 4 {b) 5 ich & (d) 8
24. If 42" = 64, then the value of o is ; Fi
(&) 2 (b) 4 e & (d) 12
2. If (4/3)° %97 = 3" % 33, then the value of nis:
(&) 2 K ich 4 id 5
o8, ][M:-ET. then the valee of n is :
3= (81"

iah0 (e ich 3 d) 4



JL

If2e+4_28+2 - 3 then 5 is equal to :
{a) 0 "(b) 2

If2o=14 2041 2 330, then n iz equal to :
La) B ibi B

If 3% — 3%~ 1 « 18, then the value of x* is :
{a) 3 ib) &

Filedxs 5.

Whﬂ if equal to :

[ |
(ch B

(&) 27

(a) 28+ 1 (b) (g-rJ ic) [-r”h%]

If:=3+3ﬂ'§.ﬂ!ﬂﬂﬁﬂlua-mf[1";—?l;]ii:
(e 242

(a1 (k) 2

id) = 2
i 7

id) 216

(d) 1

(C.B.I. 2008)
(d) 343

Given that 10°% = x 10°™ & yand x* = 2, then the value of £ is close to -

(a) 1.45 (b) 1.68 ic) 28

(d) 3.7
(C.B.I. 2008)

If m and n are whole numbers such that m® = 121, then the value of {m — 1)+ 1 is -

{a) 1 (b) 10 (e 121
A
(2485 w g1 z
gr oy gn-l -
(&) 1 (by 3 {cy 8
3 2 1
Number of prime factors in (21605 w« (250005 = (300)5 s
(a) & (b T {e) &
2
Numiber of prime factors in 5 2 30 < Q8% _
(1412 (211!
ia) 56 {b) 86 (ch 112
1 1
l_'_n_ﬁl-ﬂ:l " ]1-1]':"_"] M
1
{x) O (b) 3 e 1
1 1 1
14 ?-0F gle=a) i 19 g0-0 , Jde=-By 4 W i
{a) O (B 1 {cl x@=b-e
r.tl' (B4 € =ad ,:"" e o =81 f:" bl = g
= 13 -
{a) xo (b1 (&) xob+ b+ ca
" (i1 + & .'l:b ihae) o fr e ml
=2 | -
?J [] [r'] '
{a) O (B xhbe fchx2+ b+w

(8.8.C, 2001)
(d) 1000

(8.8.C. 2004)

(d} 3=

{d) None of these

(d} Nonno of these
(M.B.A. 2003)

{d) gm + @

(M.B.A. 2003)
(d} Hone of these

(L.ILC. 2008)

(d) a2~ bve

feft 1
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fr"" r.t* P
« [EFEFEF -

i il =
{a) 1 (L) xabe () gl o) (d) None of these
k|
42 Il abe = 1, then s I +—1—_tl=?
1+a+b™' 1ebse™! lrera™’
1
{a) O (b1 {c} prs (e} ab
43, If a, b, c are real numbers, then the value of Ja b yb ke g is:
1
{a) abe (b ake Lel e (d) 1
44 Ifaw=-7 - 97 and 30+ = 243, then x iz cqual to (H.E.B. 20d03)
{al O (b2 (el 4 (d) B
I =1 X
45. SHEE -E,lh:nﬂwvnlur—-ﬂ;iﬁ:
'.‘1)' |27 o
(a) 1 {b) 2 (<} 3 id) 4
46, If 2° = V32, then = is equal to :
a 5
(m) & (b @ = (dh 3
1 1
47, If 2"« 8% = 28 then x is equal to;
1 _1 4 23
tal 7 b 5 (el = { 3
48, IF 5 3 - onydx = dl ghen (he value of x is : :
5 11 11 13
(&) 1 7] 5 Ll 3 {dl 5
49, If 8" = b" = ¢ and ¥ = ac, then ¥ equals -
b
xx =z ixz
[
" TP “rew D e
BO. If 2° =« & = 677, thm[l-l-l-l-l]iu:aqm]tn:
¥ ¥ X
3 1
ia} O (B 1 i 5 () e
Gl. f &= b, b" = ¢ and & = &, then the value of oz 18 ;-
1
(@) O (b 1 {c} ahe (d) abe
1 1 1 2-!
= ‘T = B e y——
B2 Irz =4 = “d‘,h*ﬂl 'E:] = , then the value of 7 is :
T T T 7
i) I (b 2 3 (e i ] 51

53. The largest number from among ..E,':'.'lrﬂ_lndﬁia:
im 2 i Y3 e s [d) All are equal
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x-1) .
Bt I x = 5+2J6, then is equal to
e

(a) 42 by 2,2 e 43 d) 248

L 2 8. 402 B6(6 6Bilz} 7.(8 &0 98
10. i) 1L {a) 12 (B 13.id) 14. (0 16 (L) 16 (3 17. () 18. (b)
19.(2) 20.(d 2L (b) 32 (w) 2. (a) 24.0(d) 26.0d) 26 (v 27 (d
Z5. d 2. (0 B80.(d) 3L (b 32 (c 33 (dh 34 (5 86 (&) 836 (b
37. () BB. (b) BO.(b) 40.(d) 41 (a) 42. (b 43.(d) 44. (& 45 (dh

L] 5 {.HF*]
1 (25604 = (4% = g' 4/ = g5 = 1024
1

o i [E;JE : a{é"%] o - T - 2(.3“%‘] e
s
g

- B C A IO

LT - - ey

(27)3

2
|_5] 3’5
1
5. 5% x (12605 = g5 o (50005  GDE L g3 028 _ o005 p0 75 w0254 075 g1 L
1 1 1 1 1 1
i SR D) e T [_g]' i
(218) 3 (2560 + (D F (gH 3 41 @ E
1 1 1 1 1 1
2 3=-.—:|+ Hl_—_.jl"' - ﬁ"—_-!i""r_:*'.f'l'
i i@ 4 4 2 1
- B+ 4*+2) = (364 64+ = 102
150 e _ (10 (150 - 146
7. Q00 .. o o 1 i=[1+}r‘~“ ' = 10% = 10000,
{10y
X
8. (24 %107 + (Bx107?) = 22210 9‘“"“’2 = (3% 10%,
Bx107%  Bxi10”
2 4 2 2 lﬂ-us
FA Y (LY: 3 3 _ e g sl-‘] 6 36 4
E_|—| -l = = (2182 + (279 = - - T o e
\216) |27 - 2 T e g
i5*)3 3
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oo’ _ aody 1@ 108t

= = @of =¥ = 10° = 1000,
10% LT T

10. (1000)7 « 1078 =

1. (25601 (25610 - (a5gPI0 0 _ onglE o tml[ﬁ
1 b k=
25E = (49 = I.[ "] =4 =4

k. 3

=i I-ﬁ I 1 2 E E J:]; ..-]

12, (00425 = [iJ = =—-J @252 = (592 = 8 = 5% =195
100 25

18. Let (1799 x (17" = 17 Then, (17P% * 7 = (17F.
35+x=8 = x=[B-35 = =x=405
I, 49 x 49 X 49X 40 = (TP x P x T2 x T m TR+ 222+ D 78,
S0, the correct answer is 5

1= 4}

4 &
- [ g
_{_E}.: ] =E_-fl._.{_-ﬁ].—'l.

1
=5 = 5 1
16, (64) 2-(-32 5 = (8 Foj-0% S =8

of et v i =[1_ 1].i
g8 -zt R 16 1

17. (1875 & (275 « ¢85 - ¢ 7

1
2
E.

(18RS x L _x g% = g 3 3 9P e % (2% 335 = 2
- @ hicaiie i

e E‘E“Hxﬂmwda iE T E i o

- Txi"""’xﬁxz"snﬁrﬂ' o =7 = x=T

75 B ZwiE) 5
18, Let (2575 » (B}28 » (126119 = 5%, Then, _{51"]{;5&{55]1_ =5 = 's. Eihluﬂ-fﬂ - = 5
15 E =
S 5:::2 DB e B = EIE-AS gl oo 13
Jn s u tﬂ-’ﬂnm .Mil:ﬂ'.l-ﬂﬂ-ﬂ.ﬂ'n
* s xmﬂmxm&mﬁ T T
= {mtﬂ " g IS“‘J“
02 . il o P = 0D 025 2015, JUS
- _al'uu'ﬂ_.‘!] k i ) E
O3 08 0m ol

-1 -3 1 =iz -3} [ I §
a ] al 'a a 3
L = = - _— .1- = |—
- [b] [n] . [b,l \7) [a]
o x=1=8-—-x¥ = 2xwd = x=1l
gi -1 1 et hee k) oo obo gord G aete)
go-3 ,:'E:Ijn—z = glln -1 Eﬁ-iﬂ
= 2p-1=0=3n = 8Bn=1] 4= aA=2
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VeJi2 w "=5 o asbh
Sa-3 o gB-3 5 52 o 98

|-|-l-|-3-|-E

1
1}
FLTC T JPR Le t0 B

3
B8t 13 T = ol

« §
m Fepft*? o 48 f & 4=4

B[l

1 A
Etﬁi & @R = o 2P o r—1;-!‘:"1 = nel2

VB xS 23" %33 o [3%]51.{32:,2.3#!3,:3% = Bt'l_ﬁ]nﬂ‘z"“z.‘lr”h;_]

S[%*] :““%} 3 13 132 a3} 10
L= =3 = H.*E-I-E =] 4‘(‘5'5]—?-5\-
g x 8% x 277 (3P x 3 (3P " x gt gy
— e = - e, o i R

3 x (B1)* = =izt i Iu ey i

o P Tl g o gorn-mag
E:F at”
e 30-3.3) o n-3=28 = Zn=6 w o=J
e - E LR R (T O TR IR PR Y ey
Fu=1420+0 =300 e 29=-1(1 4+00 =800 & 5x20-1.3%

= f"-%-ﬁ!af = n=l=6 &= n=T

P F-lall e FI{I-1=18 = F-lafad o x=-1=22 = x=4.
=3 =127

2"+'—2‘42" +r5==n+-l_2q+1+ i _2_111-112J_1]+ 1
Zxgn 3 B ) ey

gnelyg g [':I' l] &

T U

2
JI—IJ- PSS SIS S
( ?1-' S I ¥ EhﬂE}
, - (3422 : B-22) . _ —oT -0 =
}1m+ﬁn B+ 202 (3-3) -2 = 4

(8- 2J2)
(5-3)-+

ey o 10 2007 o 1000480 o 102 = 0T o jol0

140 A8
&= 048z = 140 &= = — o — = :
T 12 4.8 [approx. |

We know that 11* = 121. Putting m = 11 and n = 2, we get :
(m -1+ 1 = (11 - I¥2+ 1 o 107 = 1000,



. 5-":5]
T __(2amB xgEnt) ta“]ﬁ i L J[ T s
o B T A T
g E:tl-l E’n-htll 3&1 & s
.aﬂ.nklannlxglutl—lt_aaui jhi: n-fI:lE

3 z 1 ] ] 1
86. (216)° x (25000% x (300)° = (F° =205 x (5* % 2%)° (5" x 2¥ x p®

=3[“;J 43":}:615} i[l :-:ﬁ-h" :2[“!]:3_5’

¥ ] -] i
=85 %05 55 25 155 :-:,'25' 135

3[?{1"| JPI#‘!]; ,"l a}

— =B E_Ix 3 8 3 ﬁn_& 5_..3!:,;3.1“5!

Hence, the number of prime factors = (2+ 3+ 28} = T,

6235 x (15 _ @xB P x5x TP x (3x 5% 23T <0 < TE 30 5"

B B REDT  @xTEx@x7m 5 % o 71 o gl il
1212 1T IE 1), (2 16] , o8- 1211
I7 “
=ﬂnxﬁﬂnﬁunﬁ’_==%
Number of prime factors = 17 4+ 44 4+ § = 86
1 1 1 1
aT7. + = +
(m=m) (= n)
1+a l+a [1+¢_:] []*%J
o )
g a ¥ a® [-u:"+uj
{a™ +«a™) iu"+r:r] u:"‘fn"]
. 1 1 1
8. Given Exp. = + o
1+ E 'E ‘.l+'1:d+l':E 1+it+£
” 2 oz
" = 2 (x® +2* + £°) o

i l{.‘::i'-l-.;t}-I:E}*f:’+.::h+f:l+h=+j'*+]'¢l ix® + 20 + 25

30. Given Exp, = xiﬁ-c]ﬂl1i.‘.'--l-'l_ll:rﬂd:H:"lﬂﬂ_'!'lﬂ-b]'l:ﬂ*b"ﬂ

- ‘Iﬁ--ﬂ][ﬂd-l'.‘-:l-ﬂ:(h -ﬂ__tl_t = @] @)= Mr-nb_x{a—ﬂh-ﬁ Bi-ela-b

- :{ﬁ: S -b":llx-nﬂ' ~gl=ble-gl=-elo=B) _ tr" i l'u]'ﬂﬂflt D=l

40 Gi EIF'- ':l,u—a]{u+m_;[h—ﬂm+rj :I.‘" akie = @l
i0f =% 6 =et) i en®) | e et ebteet ot aat)

=% =:|: = 1

e 1 « ] =5 (h=gd fo=m@)
sl Given Exp. w (@ ~Mpeb (- ic yc-V)ca = g ¥ x & g @

{Iurhb_:b—-:]_[-r-n]'b [1_1} 1 L .,El_l]
_.'I-'.b e w_.;_t.hr ¢ f L R S
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. i 1 1
42, Given Exp. = + *
1+a+bF Tabse™! 1sesa™!
oo % 1 a
= * +
l+a+b™) Vit agiar+l
1 -1
T leaa+b Lo

= + W =
l+a+b1 111:'1+-u avh™ el 1+g+b}
[V abe=1 = (wr'eag = bl il=gandacr=FkY

1 1 I 1 1 1
T A L s T R} I
1 1 1 T 1 1
= a2 b2 (eI = (12212 w (Ix1xTlw L
M - r=27T=8 m x-y=3 A
F - Faldi=33 o x+¥=5 i)

On solving (i) and (i), we got x = 4.

T afT s s gc g1 g
o (JHF) -5~ & 3

3 eyl a3
{E?J’“{E’}‘"” B ke 35'12_:'_"_']:5: . %
@y @ P 3T g, ga D 3
3z - 3 -2z} =-X LR 1] 1
= : — r=§"§=—h=§ﬁ{§] =[§] = x-d=] = x=4.

1
45, ?:Hﬂ_ﬂ‘ = f:{ﬂl":(ﬂsﬂilﬂi = .'I::-g-.

1 2 1 . 2 1 (o]
47, FxE5 =25 o Fu(PP ad o Py pf o g
3 1 1 4 -2
Fh.'lf-l's Eﬂ'[i[i—i]:?_

A8 5=+ 3 g oplr-d) o, glrs 3 _ ;eZyds - d)
= E;I:*:l]_,ﬁﬂi-::lw—ﬂ- = Ei.urail._E_ln—l.;l

= réd=Br=8 = fGr=1] = x-%.

1 1 1
48, Lot o = W =" = L. Then, a = &%, & = k¥ gand ¢ = £=.

[1.]‘ 11 (3 &)
W oage @ B7) =k 2l o .i-L"' = k¥ 2
T TOT O .
¥ = 2 izx+az g 2+ 2}

L 1 1
50, 5@.2"-3’“-5—*-& = 2=kY 3=k pgnd B = k

=k
II

e

S R {l-i] g
Now, ExB=6 & Woaxd  mk = w B Hogs
1 1 2 (RS Ce |

_+l=—— -.aa-l-—#—-'l:'.
X ¥y F ® ¥y X



Bl al = & = (b = D7 = ()% = g7 oz =1
D 2T 4r=8F = =00re P o y=Oye=dz
1. 1ol dapelo .t 1 24 . 3_3 .[E l].i
TR T i T bl e 7 e A TR Tl (T T
B, LCM.of 2 3, 4is 12

1 Q[ix_ﬂ s 1 1
J2 om0 o @3 B g 012 g (0F)2 4 (G417 = WEE4
1 z[lx: 4 1 1
ﬁ=3$ =34 4 - g = (3*)12 = (g2 =I?E_1

i [1_12 i i
ﬁ-ﬁnlri]-ﬁ-u’}ﬁ-mﬂ = ¥
Clearly, 981, ie.. ¥3 is the largest.
B4 r=5+3/8=3+24208 = (3P + (B + 2x JA B = (3 + 2P
Algo, (z -1 = 4+2J6 = 22+ J8) = 2J2 42 + 31
-1 _2EGEL e
B ~SRT -

—— — — — — — — —— — —— T S W S e e . —

er'



